BMTRY 763 Tutorial 5 Open/WinBUGS

Bayesian Hierarchical Models

1) Using the doodle editor construct a DAG for the model:

L=T]f(v:8.6)
i=l

wheref (y;;g,6) is the Poisson
distribution with expectation 6
p(@) is a gamma(e, [) distribution.

Assume that the gamma parameters have uniform priors on a finite range

2) For the model:

[y &.6]~ Pois(ed)

Ing =4,
[ﬂo]" N(Oafo)
7,=3

Generate the WinBUGS code (up to compilation stage)
What type of model is specified here?

3 ) For the Falkirk data in tutorial 3, fit the following model on WinBUGS and produce
maps of the mappable estimated components:

[V; |€.6]1~ Pois(g6)
Ing = g, + f,dep, +y,
[5,]1~U(-1000,1000)
[51~ N(0,7))
[u]1~N(@O,7,)

7,7, =3



